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For it is written 03, but it is not written 907

OVERVIEW

X217 taught that even though the >"12 lost their fragrance at °1°0 777 (by worshipping
the 23v) as the P1od states "3 31 19771 12002 Tonnw TV, nevertheless the °"12 are
still dear to 11"2pm, for the P09 could have written 17 17°707 2»711 and it chose a
more refined expression to indicate their dearness to 77"'2p77. Our N120N clarifies this
proof.

mMooIN anticipates a question:
— >Nobym NIV ANanY 7Y NT 23 Yy 9N

Even though it is necessary to write a refined language (1 1m3),* and not use
coarse language like r>07 —

mooIn responds:
1389 2N91Y s8N MY DY Yan
Nevertheless in order to satisfy X*2¥n 81w, the P05 could have written 21v >772

117 (the fragrance left my spice), which would also indicate that there is no fragrance left
at all; since it merely wrote 17°7 101 this indicates that it merely gave up some [but not all] of the
fragrance.

SUMMARY

If there was no dearness of the >"12 to 71"2p1 after the v, the 109 should have used
a more severe term than jni, it should have stated 21v (which would have denoted
m0m).

THINKING IT OVER
According to moon why did the X3 write, 105 2°n> R?Y'; the X7n3 should have
written 21y 2203 X91'21°

' My spice gave away (lost) its fragrance.
* The odor of my spice became repugnant.
? There is seemingly no proof that 12 X177 Xm2°an 779, because the 7105 meant 707, it was just written in a refined
language.
i See ¥,x 0°1o9 that a person should not allow a 7112 727 to come out of his mouth. See 7" w o"7n.
See >"xan.
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